










Statements:

All waste is box.

Some box is oval.

No oval is an green

Conclusions:

Only a few waste is oval.

Some green being box is a 
possibility.

कथन: 

सभी वेस्ट बॉक्स है. 

कुछ बॉक्सओवल है. 

कोई ओवल ग्रीन नही ीं है

ननष्कर्ष: 

केवल कुछ वेस्टओवल हैं. 

कुछ ग्रीन के बॉक्स होने की

सींभावना है।



Statements:

All waste is box.

Some box is oval.

No oval is an green

Conclusions:

Only a few waste is oval.

Some green being box is a 
possibility.



Points to Remember



Statements : A > C ≥ T > I ≥ O > N

Conclusions: I. A > N

II. C > O

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statements : A = B ≥ C = D ≥ E = F 

Conclusions: I.  A ≥ F

II.  A = F

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statements : 1 > 2 > 3,  5 < 4 < 3 

Conclusions: I. 1 > 5

II. 4 < 2

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.
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Statements : N > U > M < B > E > R 

Conclusions: I.  N > R

II.  N ≤ R

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statements : A ≥ C ≥ T = I ≥ O = N

Conclusions: I. A > N

II. A = N

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Which of the following explanation true?

E = F > G ≤ H = I

1) E > G
2) H ≥ G
3) H ≥ F
4) I ≥ G



Which of the following explanation true? 

L ≤ O > V = E ≥ S

1) L ≤ V
2) O = E
3) O > S
4) S ≥ L



Which of the following explanation true? 

B > E ≤ A = T ≥ S

1) B > S
2) E = T
3) E < T
4) E ≤ S



Which of the following explanation is true? 

M = O < N = K ≤ S

1) M = S

2) O < S

3) N > S

4) O = K



Which of the following explanation is true? 

C ≥ H = A > T > S

1) S < C
2) T = C
3) W > O
4) W ≤ O



Which of the following explanation is true? 

S ≥ T = U > D ≤ Y

1) Y > U
2) S = D
3) S = U
4) S > U



Which of the following explanation is true? 

G ≤ R > E = A ≤ T

1) R > T
2) R = A
3) G ≤ T
4) E ≤ T



Which of the following explanation is true? 

S = T ≤ R < E = A > M

1) S > M
2) A > S
3) A < T
4) M > R



Which of the following explanation is true? 

D > R ≥ E = A ≤ M

1) D > M
2) A < D
3) E = D
4) M < R



Which of the following explanation is true? 

Statement: M ≥ O ≥ L ≥ T = E ≥ D

Conclusions: I. D ≤ O II. M ≥ E



Which of the following explanation is true? 

Statement : B < C = D ≤ X ≤ Y < Z

Conclusions: I. B < X II. Z ≤ C



Which of the following explanation is true? 

Statement: M ≥ O ≥ L ≥ T = E ≥ D

Conclusions: I. T < O II. T = O



Which of the following explanation is true? 

Statement: S ≤ P ≤ A = R > E ≤ D

Conclusions: I. A > D II. S ≤ E



Which of the following explanation is true? 

Statements: A > B ≤ C = D ≤ E, C ≥ F = G > H

Conclusions: I. C < H II. A > H



Which of the following explanation is true? 

Statements: H ≥ T > S ≤ Q, T ≥ U = V > B

Conclusions: I. V > S II. B ≤ H



Which of the following explanation is true? 

Statement: R < O ≤ L ≤ E; G = E ≥ S; P ≤ S

Conclusions: I. R > P II. P ≤ E



Which of the following explanation is true? 

Statement: R < O ≤ L ≤ E; G = E ≥ S; P ≤ S

Conclusions: I. O < G II. G = O



Q. Which of the following symbols can be placed in the blank spaces

K=D_C , T_Q , K_S ≤ Q

Conclusion:-

I. Q ≥ K

II. C > K

III. S < T

(1) >, >, ≥ (2) <, <, ≤

(3) <, >, ≤ (4) >, <, ≥



Q. Which of the following symbols can be placed in the blank spaces

F_G ≤ L , B_ Y , L _ O >Y

Conclusion:-

I. O > G

II. F < L

III. B < O

(1) >, >, < (2) <, ≤, <

(3) <, >, < (4) <, ≤, >



Which of the following symbols can be placed in the blank

N = W ≥ S , K_D_N , T _ S

Conclusion:-

I. D > S

II. K > N

III. T < W

(1) <, >, > (2) >, >, <

(3) <, <, < (4) <, >, <



Statement:  G = C ≮ P = T , U ≯ N = J ≱ G

Conclusion :

I. U ≯ P

II. G ≰ N

III. G ≮ T

IV. U ≱ G

(a) All Follows (b) only II, III & IV Follows
(c) only I & II Follows (d) only II & III Follows
(e) None of these



Statement:  R ≯ S ≱ Q = P , T = U ≰ E ≮ P

Conclusion :

I. T ≱ S

II. E ≱ Q

III.S ≱ U

IV.T ≰ R

(a) only I & II Follows (b) only III & IV Follows
(c) only I & IV Follows (d) only III Follows
(e) None of these



Statement:  C ≮ D = E ≱ P , L≮ T ≰ N = G
Conclusion :

I. T ≰ D

II. L≰ E

III. C ≮ T

IV. D ≯ E

(a) only I & II Follows (b) only II & III  Follows
(c) only III Follows (d) only IV Follows
(e) None of these



Statement:   M ≯ N ≱ L ≮ Q , R ≰ T ≮Q 
Conclusion :

I. R≮ L

II. T ≯ N

III.L≰M

IV.R≮M

(a) All Follows (b) only III & IV Follows
(c) only I & IV Follows (d) only III Follows
(e) None of these



Statement:  C ≰ H = P ≮ E ,  J ≱ N ≯ D = C
Conclusion :

I. D ≰ P

II. N ≮ H

III.D ≰ E

IV.C≰ J

(a) None Follows (b) only I, III & IV Follows
(c) only I & II Follows (d) only II  Follows
(e) None of these



Statement:  A ≯ B < C ≰ D ≮M = F

Conclusion :

I. A ≯ F

II. A < C

III. D ≮ F

(a) All Follows (b) only III Follows
(c) only I  Follows(d) only II Follows
(e) None of these
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